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Please check that this question paper contains 19 printed pages.

Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 37 questions.

Please write down the Serial Number of the question in the
answer-book at the given place before attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
candidates will read the question paper only and will not write any answer
on the answer-book during this period.

Page 1 of 19 # P.T.O.




EYE

Eids
qrT= 3597
(i)  I¥H-TAH gie GUe SR 37 I8 |
(i) TUBH T TdF 1 3% arct 1 - 18 Fglashed ¥ 8 | At 97 A & |
(iii) TUSEH 19 — 24 T 37[d TY-ITN THR & T4 8, IS4 € 5 T34 4 & | Tei4% T
2 37 1 8 37K I 60 — 90 37531 G 37(e 781 &1 =1eT |
(iv) TUBITE 25 - 30 TF Y- JHR & T &, 198 € 5 T & 8 | JeIe T 3 3
1 8 3N I 100 - 150 7551 @ 37147 T8 g1 =112 |
(v) TUS-TH 31 - 33 TR 37eT T & | TP T9H 4 37 1 & | STl Taehed 3TeTsY
gl
(vi) TUS-TH 34 - 37 NHIHOT IFR F Y &, 578 8@ 3 Y97 3 & | T4 Y94 5 37
1 8 3T IW 200 — 300 37551 G 3Afer Tel &1 =1l |
©ug h
(@ T A §)
1. Hifgm e fofa T SATYTHA BT 2 |
(A) 9 e (B)  wforsar o waviq
(C)  =dHH &I (D) & e
2. U AheAIse Siaanfiar #, afe @1g i v o &, at ey oted | ag Y den i
TUTAT foREreh ST <Al STQAT 2
N _
) = ®) S
© 22 D) NB-1
3.  TkIRad ¥ § SI9-81 AT ST FGATEHT 7 T B ATAT TR T THTE & ?
(A) BT IHR I AF dedl
(B) TIH Igai g2
(C) T A H Jeiadt gldt &
(D) W Rafa o gea v i Bt ®
75/S Page 2 of 19 #




2
a2

General Instructions :

(i) The question paper consists of 5 sections and 37 questions.

(it)  Section-A consists of questions 1 — 18 carrying 1 mark each and are
Multiple Choice Questions. All questions are compulsory.

(iti) Section-B consists of questions 19 — 24 carrying 2 marks each and are Very
Short Answer Type and their answer should not exceed 60 — 90 words.
Attempt any 5.

(iv) Section-C consists of questions 25 — 30 carrying 3 marks each and are
Short Answer Type and their answer should not exceed 100 - 150 words.
Attempt any 5.

(v)  Section-D consists of questions 31 — 33 carrying 4 marks each and are Case
Studies. There is an internal choice available.

(vi) Section-E consists of questions 34— 37 carrying 5 marks each and are Long
Answer Type and their answer should not exceed 200 — 300 words. Attempt

any 3.
SECTION A
(All questions are compulsory)
1. Seeding is decided on the basis of : 1
(A)  Previous Performance (B)  Future Performance
(C)  Current Performance (D) Bad Performance
2. In a knock-out tournament, if byes are in odd numbers, then number of
byes in lower half is calculated by : 1
NB +1 NB-1
A B
(A) 2 (B) 2
© = D) NB-1

3. Which of the following is the short-term effect of Exercise on
cardio-vascular system ? 1
(A)  Size and strength of heart increases
(B) Increase in heart rate
(C)  Blood volume increases
(D)  Resting heart rate decreases
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4. Identify the asana : 1
(A) Vakrasana (B) Gomukhasana
(C) Shalabhasana (D) Urdhva Hastottanasana

(For Visually Impaired Candidates Only)

Which of the following is a prone line asana ?

(A) Shavasana (B) Saral Matsyasana
(C) Makarasana (D) Uttanpadasana

5. Dr. Ludwig Guttmann is related to : 1
(A) Paralympic Games (B)  Olympic Games
(C)  Asian Games (D) Commonwealth Games

6. If the menstrual cycle does not began at puberty, the condition is called : 1
(A) Primary Amenorrhea (B) Secondary Amenorrhea
(C)  Oligomenorrhea (D) Menarche

7. Given below are two statements labelled as Assertion (A) and Reason (R).
Read both the statements carefully : 1

Assertion (A) : Balanced diet is the diet which contains all the essential
nutrients in adequate quantity and proportion.

Reason (R) : Requirement of food depends upon age, type of work, etc.

In the context of the above two statements, which one of the following is

correct ?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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In arm curl test, weight of the dumbbell for women is
(A) 2:5kg (B) 23kg
(C) 2-:8kg (D) 21kg
Back Scratch Test is used to measure :
(A)  Lower body strength (B) Lower body flexibility
(C)  Upper body flexibility (D)  Upper body strength
Match List I with List IT :

List I List II
a. Size of muscle i.  Determines endurance
b. Fast Twitch Fibre ii. Determines strength
c. Aerobic capacity iii. Determines speed
d. Joint structure iv. Determines flexibility
Choose the correct option from the following :
(A)  a-iii, b-iv, c-ii, d-i (B) a-ii, b-iii, c-i, d-iv
(C)  a-i, b-ii, c-iv, d-iii (D)  a-iv, b-i, c-iii, d-ii

In Ardha Chakrasana, which is the correct pose ?
(A) Back bend in standing position

(B) Forward bend in standing position

(C) Leg raised in sitting position

(D) Head raised in lying position

Given below are two statements labelled as Assertion (A) and Reason (R).

Read both statements carefully :

Assertion (A) : Newton’s third law of motion concludes that forces occur

in pairs of action and reaction.
Reason (R) : The action force is more than the reaction force.

In the context of the above two statements, which one of the following is

correct ?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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Children aged 3 — 4 years should engage in physical activities for : 1
(A) 120 minutes (B) 60 minutes
(C) 180 minutes (D) 45 minutes
Match the items of List I with List II : 1
List I List IT
a. Polishing i.  Makes surface slippery
b. Lubrication ii. Makes surface smooth
c. Shoes and spikes iii. Replaces sliding friction with rolling friction
d. Use of ball bearings iv. Designed to increase friction so that better

speed is generated

Choose the correct option from the following :

(A)  a-iv, b-iii, c-ii, d-i (B)  a-ii, b-i, c-iv, d-iii
(C) a-iii, b-iv, c-i, d-ii (D)  a-i, b-ii, c-iii, d-iv
Which one of the following is not a trait of Big Five Theory ? 1
(A)  Openness to new ideas (B) Neuroticism
(C) Extraversion (D)  Submissiveness
A person who is bold and outgoing is a/an . 1
(A) Introvert (B) Ambivert
(C) Extrovert (D) Somatotype
The duration of micro cycle is : 1
(A) 3to6 weeks (B) 3to 10 days
(C) 3to12 months (D) 3 to 10 years
In which method is stretching done rhythmically ? 1
(A)  Slow stretch (B)  Slow stretch and hold
(C) Ballistic method (D) PNF
SECTION B

(Attempt any 5 questions)

Explain the correct breathing pattern while performing Nadi-Shodhana
Pranayama. 2

What do you understand by menstrual dysfunction ? Write in brief. 2
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‘Roughage is an essential component for our body.” Explain this statement

by enumerating the functions of roughage. 2
What is the purpose of the abdominal partial curl up test ? 2
Differentiate between extroverts and introverts. 2
Write any two physiological factors to determine strength. 2
SECTION C
(Attempt any 5 questions)
Differentiate between Knock-out and League tournament. 1 é +1 é =3
Explain any two common postural deformities with their corrective
measures. I1—+1—=3
2 2
What is the purpose of conducting the Sit and Reach test ? Write the
procedure for conducting this test. 1+2=3
Enlist any two asanas for back pain and explain the procedure of any one
asana. 1+2=3
What types of physical impairments are considered for grouping the
athletes for Paralympics ? 3
Why are the angles of release for shotput, javelin and discus throw
different ? Explain. 3
SECTION D
In a badminton competition, there were 7 players. In the first round,
3 players were eliminated after they lost their matches. Based on this
information and your prior knowledge, answer the following questions : 4

(i)  What type of tournament is mentioned above ?
(A)  Round Robin Tournament
(B)  Knock-out Tournament
(C)  Challenge Tournament
(D) Knock-out Cum League Tournament
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How many total matches will be played if it is a Round Robin

tournament ?

(A) 18 B) 17
) 21 (D) 16

An advantage of knock-out tournament is :
(A) It takes less time

(B) Weak teams may enter the final

(C) Strong teams may get eliminated
(D) It is more expensive

The formula to calculate byes in the upper-half in a knock-out
tournament is :

N+1 N-1
(A) 5 (B) 5

NB+1 NB-1
C) 5 (D) 5

The 10" ‘Asia Pacific Deaf Games’ were held in Kuala Lumpur, Malaysia.

The table given below shows the medals won by India in the tournament :

Medal Table
S.No. | Discipline Men | Women | Gold | Silver | Bronze | Sum Total
1 Athletics 17 10 05 12 11 28
2 Badminton 04 04 00 03 03 06
3 Chess 04 03 00 01 02 03
4 | Judo 02 04 02 00 05 07
5 Table Tennis | 04 04 00 01 02 03
6 Taekwondo 01 01 00 00 00 00
7 Wrestling 10 00 01 01 06 08
Grand Total 42 26 08 18 29 55
Answer the following questions based on the above case and your prior
knowledge : 4
(1) The first Deaflympic Games were held in the year
(A) 1924 (B) 1984
(C) 1948 (D) 1954
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(i1) How many athletes participated in the Judo tournament ?
(A) 2 B 4
(C) 6 (D) 8
(iii) How many silver medals were clinched in the wrestling competition ?
A 1 B 2
(C) 6 (D) 3

(iv) In which year was the logo of Deaflympics designed ?
(A) 2001 (B) 2002
(C) 2003 (D) 2005

(For Visually Impaired Candidates Only)

With specific reference to NEP 2020, ABC School seeks to ensure inclusive
and equitable quality education and promote learning opportunities for all.
The school management set up a committee of experts to make physical
activities accessible for children with special needs. The committee
recommended the following strategies, i.e. :

It is better to start with indoor activities. Specific instructions must be
provided in simple words and sentences. Space for activities should be
disturbance-free. Equipment and rules must be modified according to their
age and need. They should be mentally conditioned to exercise and
motivated to participate in physical activities with positive feedback. They
should be involved in community-based programmes, i.e. wheelchair
activities, walking, etc., so that they may interact with the society.

Answer the following questions based on the above case and your prior
knowledge :

(1) Which of the following is the least preferred strategy for making
physical activity accessible ?
(A) Age appropriate equipment
(B) Use of standard equipment only
(C)  Use of appropriate space

(D) Clear instructions
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(i1) Which of the following is a social strategy for making physical
activity accessible ?

(A) Increasing interaction among CWSN
(B)  Providing modified equipment

(C)  Providing clear space

(D) Conducting non-locomotor activity

(i1ii) From where should the physical activity start first for CWSN
students ?

(A)  From an inter-house competition
(B) From an inter-class competition
(C)  From an indoor activity

(D)  From an outdoor activity

(iv)  An effective inclusive physical education programme includes
(A) Simple to complex activities
(B) Complex to simple activities
(C) Challenging activities

(D) Competitive activities

33. A handball team from XYZ School reached the semifinals of the CBSE
cluster-based tournament. The team reached the venue at the scheduled
time of the match, so they did not get sufficient time for warming-up. As
soon as the match started, Rohit took his place to reach the opponent’s
court to make a goal but suddenly he fell prey to an injury and fell on the
ground. His coach had some knowledge of first aid. He immediately rushed
to him to avoid any serious injury.

Answer the following questions based on the above case and your prior
knowledge : 4

(1) What was the cause of injury ?
(A) Lack of warming-up
(B) Improper equipment
(C)  Collision with another player
(D) Improper coaching
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(i1)  Which of the following injury occurs due to tear of ligament ?
(A)  Contusion (B)  Strain
(C) Sprain (D) Abrasion
(iii) Which of the following refers to any collection of blood outside of a
vessel ?
(A) Incision (B)  Abrasion
(C)  Contusion (D) Laceration

(iv)  Fracture of a bone without breaking is called
(A) Oblique fracture
(B) Impacted fracture
(C) Comminuted fracture

(D)  Green stick fracture

SECTION E
(Attempt any 3 questions)

Vitamins are divided into two different categories. Enlist them and explain

any two vitamins with their deficiency diseases. 1+2+2 =5

Define friction. What are the advantages and disadvantages of friction in

the field of games and sports ? Explain with suitable examples. 1+2+42 =5

What is the need for inclusive education in India ? What measures can be

taken for the effective implementation of inclusive education ? 243=5

What is speed ? Explain any two methods of speed development. 1+2+42 =5
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